o~ ASSEMBLY INSTRUCTIONS

ITEM NO: 1169-411-BEN

HOLLAND HOUSE

DINING BENCH

WARNING: To avoid alignment issue, please don't tighten the screws unless all legs are adjusted at the same level.

ASSEMBLYCOMPLETED
HARDWARE LIST/ LISTE DE QUINCAILLERIE PART LIST/LISTE DE PIECES QTY'/ QTE
Screw ¢8 x 45 mm 2 pes SEAT L pC
1 2 pia A .
cmnmmm:tq} picces 1 PIECE
Vis ¢8 x 45 mm l SIEGE
) Bolt $5/16" x45 mm 4 LEGS 2 PCS
pes
% 4 piéces B 2 PIECES
Boulon $5/16" x45mm PIEDS
Spring Washer ¢$5/16" x12 mm 4 STRETCHER LPC
pes
3 'Rondelle de ressort @ 4 picces C BARREAU 1 PIECE
$5/16" x12 mm
4 Flat Washer 5/16" x19 mm 4 pes TOOLS REQUIRED (NOT PROVIDED)
4 piéces
Rondelle plate $5/16" x19 mm Phillips Screwdriver (=
Allen Key 58 x 23 x 4 mm .
pe 0
5 ﬁ!] 1 piéce °
Clé Allen 58 x 23 x 4 mm
>

STEP 1
ETAPE 1

MADE IN VIETNAM
FABRIQUE AU VIETNAM




